Selector Action

2 Positions 3 Positions 4 Positions
A —Pos. 1,2 B —Pos.1,2,3|C —Pos.1,2,3,4
E —Pos. 2,3 F —Pos.2,3,4 no stop
H —Pos. 3,4 J —Pos.3,4,1 |D —Pos.1,2,3,4
L —Pos. 4,1 M —Pos. 4,1, 2 stop between
U —Pos.9,12 [P —Pos.9, 12, 1and4
o'clock 30'clock |G —F0s.2,3,4,1
V —Pos.12,3 |R —Pos. 12,3, stop between
o’clock 6 o’clock 2and 1
W —Pos.3,6 |S —Pos.3,6 |K —Pos.3,4,1,2
o'clock 9 o'clock stop between
X —Pos.6,9 |T —Pos.86,9, Jand?2
o’clock 12 o0'clock |N —Pos.4,1,2,3
stop between
Jand4

Y —Pos.9,12,3,6
o'clock. No.
stop.

Z —Pos.9,12,3,6
o’'clock. Stop
between 6 and
9




